Math 3283W Fall 2012 - Writing Quiz #6 ,
Thursday 11/1/12 - 20 minutes Name: ‘(\ e ‘6

Remember that your work is graded on the quality of your writing and explanation as well as the validity of
the mathematics.

(1) Using the definitions from lecture, prove that the intersection of infinitely many closed sets is-es~

a close (} -opex set. (If you reduce/modify this statement to one about open sets, then you should prove that
statement about open sets and not just cite a previous result.)

Lot TAlne W] be = fmily of closed sets. e

Vhe l\/l B, = H?\AV\ 1S an Ope~ ge-f(io»,, 0(€1Ciy\ od ‘¢ (oseo(“)’

T Mk F\ A s C(ogeoe) we need o shew, thet
o prove SR "

B~V A is open.
N =\ o PPN | ’ 04
g‘] ‘DeMcrﬁcw\"S ‘”\“J) %D\\ /_\ A,\ - Ej—n En ' Sb le—’{" x e V\(:J( Rm.

Then x€ BK Cor some V\éN} and Siace Ok 15 spen, Aherc
}5 Some V\ecjbor\/\ooA /\/(’X,g> L‘Ek@ggh 'ﬂflws

(=

u—‘:;n) 5o 6_5/\ }5 OPeV\, D

n=i N\ =i

/)(fS an | Aerior ?of’\“"’ O'£

1
(2) Determine whether the set S = {1 ——:ne€ N} C R is open, closed, both or neither. Justify your
n

answer using any definitions or theorems from class.
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